
TRIXIE Pet Products, Inc. · P.O. Box 101196 · Ft. Worth, TX 76185 · www.trixiepet.com 290224 | 93975

Assembling Instruction & Parts List
#43522

E	Advice: 
		  This product should be assembled by an adult.
         Please assemble the scratching tree top down!
         Please check the screws regularly and retighten them
         if necessary.	   

Item No. Scratching Post Color Height 

43522 Kobe greige/brown 90.6-104.3 in. 
230–265 cm

Pos. No. Description Measurement in mm Quantity Item No.

Pos. 1 Bottom plate
17.3 x 9.8 x 0.8 in. 

440 × 250 × 20 mm
1 43522-10

Pos. 2 Platform
17.3 x 9.8 x 0.8 in. 

440 × 250 × 20 mm
1 43522-11

Pos. 3 Platform with wall mounting option left
17.3 x 9.8 x 0.8 in. 

440 × 250 × 20 mm
1 43522-12

Pos. 4
Platform with wall mounting option right and 
toy on string

17.3 x 9.8 x 0.8 in. 
440 × 250 × 20 mm

1 43522-13

Pos. 5 Bed
DIAM 16.5 x 2.8 in.  

ø 420 × 70 mm
1 43522-14

Pos. 6 Post, jute
DIAM 3.5 x 17.3 in.  

ø 90 × 440 mm
3 43522-20

Pos. 7 Post, plush
DIAM 3.5 x 17.3 in.  

ø 90 × 440 mm
2 43522-21

Pos. 8 Ceiling connection
DIAM 3.5 x 16.5 in.  

ø 90 × 420 mm
1 43522-22

Pos. a Flathead screw
M0.4 x 2 in. 

M10 × 50 mm
1

43522-60

Pos. b Thread rod
M0.4 x 3.1 in. 
M10 × 80 mm

4

Pos. c Washer
M0.4 x  0.9 in. 
M10 × 24 mm

1

Pos. d Wall mounting screw and dowel 
M0.3 x 0.6 in. 
M6 × 15 mm

2

Pos. e Allen Key 1

 
Pos. c Pos. e

Pos. d

Pos. a

Pos. b

top
down

b

b

b

b

d

d

8

A
tt

en
ti

on
: 

Pl
ea

se
 a

ss
em

bl
e 

th
e 

tr
ee

 fr
om

 to
p 

to
 b

ot
to

m
! 

6

6

6

7

7

5

4

2

3

1

a
c


